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X% “H % T HfE NEt o B
(kg - ml) (kg - mL) =% m) (%)
1 BT #=RHS328 20 3,740 4 14,960 14,960 0 100
EFEPNS328 20 3,740 4 14,960
1817+
Jy—7TF+I— U—T7ITFT—FEHERI6/27 500 5,500 465 5,115
J—7 T+ —FHE%8/2 500 5,500 400 4,400 24 475 +9,515 164
3 50%3E AR ERHS328 20 3,740 2 7,480 7,480 -7,480 50
#=5HS328 20 3,740 2 7,480
50%RAE +
J—oTF+T— U—T7ITFY—FHERI6/27 500 5,500 465 5,115
J—7 T+ —FHE%8/2 500 5,500 400 4,400 16,995 +2,035 114
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X @4 B = B 8 -
(kg - ml) (kg - mL) ) GO = - () I )
1 BT =EREHS328 20 3,740 4 14,960 14,960 0 100
1817+ ¥=RHS328 20 3,740 4 14,960
U—7IFY— -7+ — 500 5,500 465 5,115 20,075 +5,115 134
3 50%E A8 #=RHS328 20 3,740 2 7,480 7,480 -7,480 50
50%:BUE+ #RHS328 20 3,740 2 7,480
U—T7IFP— y—71+2— 500 5,500 465 5,115 12,595 -2,365 63




